LOG-CONCAVITY OF TWO SEQUENCES RELATED TO CAUCHY NUMBERS OF TWO KINDS

Rui-Li Liu Department of Mathematics, Shanghai University, Shanghai 200444, China. liuruili@i.shu.edu.cn Feng-Zhen Zhao Department of Mathematics, Shanghai University, Shanghai 200444, China. fengzhenzhao@shu.edu.cn

ABSTRACT. For Cauchy numbers of the first kind $\{a_n\}_{n\geq 0}$ and Cauchy numbers of the second kind $\{b_n\}_{n\geq 0}$, we prove that two sequences $\{\sqrt[n]{|a_n|}\}_{n\geq 2}$ and $\{\sqrt[n]{|b_n|}\}_{n\geq 1}$ are log-concave. In addition, we show that two sequences $\{\frac{1}{\sqrt[n]{|a_n|}}\}_{n\geq 2}$ and $\{\frac{1}{\sqrt[n]{|b_n|}}\}_{n\geq 1}$ are log-balanced.

Keywords: Cauchy numbers, log-convexity, log-concavity, log-balancedness. **MSC 2010 No.:** 05A20, 11B83.

1. INTRODUCTION

Let a_n and b_n denote the *n*-th Cauchy numbers of the first and the second kind, respectively. The values of a_n and b_n are defined by the following integrals (see Comtet [3])

$$a_n = \int_0^1 (x)_n dx, \quad b_n = \int_0^1 \langle x \rangle_n dx,$$

where

$$(x)_n = \begin{cases} 1, & n = 0, \\ x(x-1)\cdots(x-n+1), & n \ge 1, \end{cases}$$

$$\langle x \rangle_n = \begin{cases} 1, & n = 0, \\ \\ x(x+1)\cdots(x+n-1), & n \ge 1. \end{cases}$$

The first few Cauchy numbers of two kinds are as follows:

n		0	1	2	3	4	5	6	7	8	9
a_r	1	1	$\frac{1}{2}$	$-\frac{1}{6}$	$\frac{1}{4}$	$-\frac{19}{30}$	$\frac{9}{4}$	$-\frac{863}{84}$	$\frac{1375}{24}$	$-\frac{33953}{90}$	$\frac{57281}{20}$
b_r	1	1	$\frac{1}{2}$	<u>5</u> 6	$\frac{9}{4}$	$\frac{251}{30}$	$\frac{475}{12}$	$\frac{19087}{84}$	$\frac{36799}{24}$	$\frac{1070017}{90}$	<u>2082753</u> 20

Cauchy numbers of two kinds are related to Bernoulli numbers, harmonic numbers, and Stirling numbers of two kinds. For properties and applications of Cauchy numbers of two kinds, see for instance [3, 7, 10, 11, 12, 13, 14, 15, 1, 5, 6, 8]. The object of this paper is to study log-concavity of two sequences involving $\{a_n\}_{n>0}$ (or $\{b_n\}_{n>0}$).

Let us recall some definitions in combinatorics. For a positive sequence $\{z_n\}_{n\geq 0}$, it is said to be *log-convex* (or *log-concave*) if $z_n^2 \leq z_{n-1}z_{n+1}$ (or $z_n^2 \geq z_{n-1}z_{n+1}$) for all $n \geq 1$. It is well known that a sequence $\{z_n\}_{n\geq 0}$ is log-concave if and only if $\{\frac{1}{z_n}\}_{n\geq 0}$ is log-convex. A log-convex sequence $\{z_n\}_{n\geq 0}$ is said to be *log-balanced* if $\{\frac{z_n}{n!}\}_{n\geq 0}$ is log-concave (Došlić [4] gave this definition). It is clear that log-balancedness is a special case of log-convexity and a log-convex sequence $\{z_n\}_{n\geq 0}$ is log-convex (or log-concave) sequences appear in many subjects such as combinatorics, algebra, and geometry. See for instance Brenti [2] or Stanley [9]. Log-behavior of a sequence is often instrumental in obtaining its growth rate and asymptotic behavior. Moreover, log-behavior is an important source of inequalities in combinatorics. Since log-balancedness of a sequence is related to log-convexity and log-concavity, it is useful for us to find more inequalities. Many famous sequences in combinatorics, including Motzkin numbers, Fine numbers, and central Delannoy numbers, are log-balanced. For more log-balanced sequences, see Došli'c [4]. Hence the log-behavior of a sequence sequences to be studied.

Recently, the log-behavior of some sequences involving Cauchy numbers has been studied. For instance, Zhao [15] showed that two sequences $\{|a_n|\}_{n\geq 1}$ and $\{b_n\}_{n\geq 0}$ are log-convex. Zhang and Zhao [11] proved that $\{\sqrt{|a_n|}\}_{n\geq 2}$ and $\{\sqrt{b_n}\}_{n\geq 1}$ are log-balanced. In this paper, we mainly discuss the log-behavior of $\{\sqrt[n]{|a_n|}\}_{n\geq 1}$ and $\{\sqrt[n]{|b_n|}\}_{n\geq 1}$. In the next section, we prove that $\{\sqrt[n]{|a_n|}\}_{n\geq 2}$ and $\{\sqrt[n]{|b_n|}\}_{n\geq 1}$ are log-concave. In addition, we investigate the log-balancedness of the sequences $\{\frac{1}{\sqrt[n]{|a_n|}}\}_{n\geq 2}$ and $\{\sqrt[n]{|a_n|}\}_{n\geq 2}$

and $\left\{\frac{1}{\sqrt[n]{b_n}}\right\}_{n\geq 1}$.

2. The log-concavity of two sequences $\{\sqrt[n]{|a_n|}\}_{n\geq 2}$ and $\{\sqrt[n]{b_n}\}_{n\geq 1}$

The following lemmas will be used later on.

Lemma 2.1. ([11]) For $n \ge 0$, let $x_n = \frac{|a_{n+1}|}{|a_n|}$ and $y_n = \frac{b_{n+1}}{b_n}$. Then

(2.1)
$$n - \frac{1}{2} < x_n < n, \quad (n \ge 2),$$

(2.2)
$$n + \frac{1}{2} < y_n < n+1, \quad (n \ge 1).$$

Lemma 2.2. For Cauchy numbers of two kinds $\{a_n\}_{n\geq 0}$ and $\{b_n\}_{n\geq 0}$, we have

(2.3)
$$|a_n| < \frac{(n-1)!}{6}, (n \ge 3),$$

(2.4)
$$b_n < \frac{n!}{2}, (n \ge 2).$$

Proof. For $0 \le x \le 1$, it is evident that

$$\begin{array}{rcl} x(1-x)\cdots(n-1-x) &\leq & (n-1)!x(1-x), & (n\geq 3), \\ x(x+1)\cdots(x+n-1) &\leq & n!x, & (n\geq 2). \end{array}$$

Then we have

$$\int_0^1 x(1-x)\cdots(n-1-x)dx < (n-1)! \int_0^1 x(1-x)dx$$

= $\frac{(n-1)!}{6}$, $(n \ge 3)$,
$$\int_0^1 x(x+1)\cdots(x+n-1)dx < n! \int_0^1 xdx$$

= $\frac{n!}{2}$, $(n \ge 2)$.

On the other hand, we observe that

$$|a_n| = \int_0^1 x(1-x)\cdots(n-1-x)dx.$$

Hence the inequalities (2.3) and (2.4) hold.

Lemma 2.3. *For* $n \ge 1$ *,*

$$(2.5) n! < \left(\frac{n}{e}\right)^n \sqrt{2e\pi n}.$$

Proof. We prove by induction that (2.5) holds. We observe that

$$k! < \left(\frac{k}{e}\right)^k \sqrt{2e\pi k}$$
 for $k = 1, 2, 3.$

Online Journal of Analytic Combinatorics, Issue 14 (2019), #09

For $k \ge 3$, assume that $k! < \left(\frac{k}{e}\right)^k \sqrt{2e\pi k}$. Next we prove that $(k+1)! < \left(\frac{k+1}{e}\right)^{k+1} \sqrt{2e\pi(k+1)}$

for $k \ge 3$. It is clear that

$$(k+1)! < \left(\frac{k}{e}\right)^k \sqrt{2e\pi k}(k+1).$$

Now we show that

$$\left(\frac{k}{e}\right)^k \sqrt{2e\pi k}(k+1) < \left(\frac{k+1}{e}\right)^{k+1} \sqrt{2e\pi(k+1)}.$$

We note that

$$\left(\frac{k}{e}\right)^k \sqrt{2e\pi k}(k+1) < \left(\frac{k+1}{e}\right)^{k+1} \sqrt{2e\pi(k+1)} \quad (k \ge 3)$$

if and only if

(2.6)
$$k \ln k - k \ln(k+1) + \frac{\ln k}{2} - \frac{\ln(k+1)}{2} + 1 < 0 \quad (k \ge 3).$$

Now we prove that (2.6) holds. For x > 0, define a function

$$f(x) = x \ln x - x \ln(x+1) + \frac{\ln x}{2} - \frac{\ln(x+1)}{2} + 1.$$

By computation, we have

$$f'(x) = \ln x + 1 - \ln(x+1) - \frac{x}{x+1} + \frac{1}{2x} - \frac{1}{2(x+1)},$$

$$f''(x) = -\frac{1}{2x^2(x+1)^2}.$$

Since f''(x) < 0, f'(x) is monotonic decreasing on $(0, +\infty)$. We find that $\lim_{x \to +\infty} f'(x) = 0$. This implies that f'(x) > 0 for x > 0. Then f(x) is monotonic increasing on $(0, +\infty)$. On the other hand, we observe that $\lim_{x \to +\infty} f(x) = 0$. This means that f(x) < 0 for x > 0. Naturally, (2.6) holds. Then we have

$$(k+1)! < \left(\frac{k+1}{e}\right)^{k+1} \sqrt{2e\pi(k+1)}$$

This completes the proof of (2.5).

Now we give the main results of this paper.

Theorem 2.4. The sequences $\{\sqrt[n]{|a_n|}\}_{n\geq 2}$ and $\{\sqrt[n]{b_n}\}_{n\geq 1}$ are log-concave.

Proof. For
$$n \ge 0$$
, let $x_n = \frac{|a_{n+1}|}{|a_n|}$ and $y_n = \frac{b_{n+1}}{b_n}$. For $n \ge 2$, we have

$$\frac{2\ln|a_n|}{n} - \frac{\ln|a_{n-1}|}{n-1} - \frac{\ln|a_{n+1}|}{n+1}$$

$$= \frac{2(n^2 - 1)\ln|a_n| - (n^2 + n)\ln|a_{n-1}| - (n^2 - n)\ln|a_{n+1}|}{n(n-1)(n+1)}$$

$$= \frac{-2\ln|a_n| + (n^2 + n)\ln x_{n-1} - (n^2 - n)\ln x_n}{n(n-1)(n+1)}$$

and

$$\frac{2\ln b_n}{n} - \frac{\ln b_{n-1}}{n-1} - \frac{\ln b_{n+1}}{n+1}$$
$$= \frac{-2\ln b_n + (n^2 + n)\ln y_{n-1} - (n^2 - n)\ln y_n}{n(n-1)(n+1)}.$$

For $n \ge 2$, put

$$S_n = -2\ln|a_n| + (n^2 + n)\ln x_{n-1} - (n^2 - n)\ln x_n,$$

$$T_n = -2\ln b_n + (n^2 + n)\ln y_{n-1} - (n^2 - n)\ln y_n.$$

Then we get

$$\frac{2\ln|a_n|}{n} - \frac{\ln|a_{n-1}|}{n-1} - \frac{\ln|a_{n+1}|}{n+1} = \frac{S_n}{n(n-1)(n+1)},$$
$$\frac{2\ln b_n}{n} - \frac{\ln b_{n-1}}{n-1} - \frac{\ln b_{n+1}}{n+1} = \frac{T_n}{n(n-1)(n+1)}.$$

In order to prove that $\{\sqrt[n]{|a_n|}\}_{n\geq 2}$ and $\{\sqrt[n]{b_n}\}_{n\geq 1}$ are log-concave, we need to show that $S_n \geq 0$ ($n \geq 3$) and $T_n \geq 0$ ($n \geq 2$). It follows from (2.1)–(2.2) and (2.3)–(2.5) that

$$S_n > 2\ln 6 - 2\ln(n-1)! + (n^2 + n)\ln\left(n - \frac{3}{2}\right) - (n^2 - n)\ln n$$

= $2\ln 6 - 2\ln(n-1)! + 2n\ln n - (n^2 + n)\ln\left(1 + \frac{3}{2n-3}\right)$
> $\ln 18 - 1 - \ln \pi + \ln(n-1) + 2n\ln\left(1 + \frac{1}{n-1}\right) + 2(n-1)$
 $-(n^2 + n)\ln\left(1 + \frac{3}{2n-3}\right)$

Online Journal of Analytic Combinatorics, Issue 14 (2019), #09

and

$$T_n > -2\ln b_n + (n^2 + n)\ln\left(n - \frac{1}{2}\right) - (n^2 - n)\ln(n + 1)$$

> $\ln 2 - 1 - \ln \pi + 2n - \ln n - (n^2 + n)\ln\left(1 + \frac{1}{2n - 1}\right)$
 $-(n^2 - n)\ln\left(1 + \frac{1}{n}\right).$

Since

(2.7)
$$\frac{x}{1+x} < \ln(1+x) < x, \quad (x > 0),$$

we obtain

$$S_n > \ln 18 - \ln \pi + \ln(n-1) + 2n - 1 - \frac{3(n^2 + n)}{2n - 3}$$

> 1.7 + \ln(n-1) + $\frac{n^2 - 11n + 3}{2n - 3}$
> 0 (n \ge 6),
Tr \ge \ln 2 - \ln \pi + n - \ln n - $\frac{n^2 + n}{2n - 3}$

$$= \ln 2 - \ln \pi + \frac{n}{2} - \ln n - \frac{2n - 1}{2(2n - 1)}$$

For x > 0, define a function

$$g(x) = \ln 2 - \ln \pi + \frac{x}{2} - \ln x - \frac{3x}{2(2x-1)}$$

Since

$$g'(x) = \frac{x-2}{2x} + \frac{3}{2(2x-1)^2}$$

> 0 (x > 2),

g(x) is monotonic increasing on $[2, +\infty)$. Due to g(7) > 0, g(x) > 0 for $x \ge 7$. This implies that $T_n = g(n) > 0$ for $n \ge 7$. On the other hand, we note that $S_n > 0$ for $3 \le n \le 5$ and $T_n > 0$ for $2 \le n \le 6$. Hence we have $S_n > 0$ $(n \ge 3)$ and $T_n > 0$ $(n \ge 2)$.

In the rest of this section, we discuss the log-balancedness of $\left\{\frac{1}{\sqrt[n]{|a_n|}}\right\}_{n\geq 2}$ and $\left\{\frac{1}{\sqrt[n]{|b_n|}}\right\}_{n\geq 1}$.

Theorem 2.5. The sequences $\left\{\frac{1}{\sqrt[n]{|a_n|}}\right\}_{n\geq 2}$ and $\left\{\frac{1}{\sqrt[n]{b_n}}\right\}_{n\geq 1}$ are log-balanced.

Proof. It follows from Theorem 2.4 that the sequences $\left\{\frac{1}{\sqrt[n]{|a_n|}}\right\}_{n\geq 2}$ and $\left\{\frac{1}{\sqrt[n]{|b_n|}}\right\}_{n\geq 1}$ are log-convex. Now we prove that $\left\{\frac{1}{n!\sqrt[n]{|a_n|}}\right\}_{n\geq 2}$ and $\left\{\frac{1}{n!\sqrt[n]{|b_n|}}\right\}_{n\geq 1}$ are log-concave. In order to prove the log-concavity of $\left\{\frac{1}{n!\sqrt[n]{|a_n|}}\right\}_{n\geq 2}$ and $\left\{\frac{1}{n!\sqrt[n]{|b_n|}}\right\}_{n\geq 1}$, we need to show that

$$(n+1)|a_{n-1}|^{\frac{1}{n-1}}|a_{n+1}|^{\frac{1}{n+1}} - n|a_n|^{\frac{2}{n}} \ge 0,$$

$$(n+1)b_{n-1}^{\frac{1}{n-1}}b_{n+1}^{\frac{1}{n+1}} - nb_n^{\frac{2}{n}} \ge 0.$$

We note that $(n+1)|a_{n-1}|^{\frac{1}{n-1}}|a_{n+1}|^{\frac{1}{n+1}} - n|a_n|^{\frac{2}{n}} \ge 0$ if and only if

$$\frac{n(n^2-1)\ln\left(1+\frac{1}{n}\right) + (n^2+n)\ln|a_{n-1}| + (n^2-n)\ln|a_{n+1}| - 2(n^2-1)\ln|a_n|}{n(n^2-1)} \ge 0$$

and
$$(n+1)b_{n-1}^{\frac{1}{n-1}}b_n^{\frac{1}{n+1}} - nb_n^{\frac{2}{n}} \ge 0$$
 if and only if
$$\frac{n(n^2-1)\ln\left(1+\frac{1}{n}\right) + (n^2+n)\ln b_{n-1} + (n^2-n)\ln b_{n+1} - 2(n^2-1)\ln b_n}{n(n^2-1)} \ge 0$$

For $n \ge 0$, let $x_n = \frac{|a_{n+1}|}{|a_n|}$ and $y_n = \frac{b_{n+1}}{b_n}$. For $n \ge 2$, we have

$$n(n^{2}-1)\ln\left(1+\frac{1}{n}\right) + (n^{2}+n)\ln|a_{n-1}| + (n^{2}-n)\ln|a_{n+1}| - 2(n^{2}-1)\ln|a_{n}| = n(n^{2}-1)\ln\left(1+\frac{1}{n}\right) + 2\ln|a_{n}| + (n^{2}-n)\ln x_{n} - (n^{2}+n)\ln x_{n-1}$$

and

$$n(n^{2}-1)\ln\left(1+\frac{1}{n}\right) + (n^{2}+n)\ln b_{n-1} + (n^{2}-n)\ln b_{n+1} - 2(n^{2}-1)\ln b_{n}$$
$$= n(n^{2}-1)\ln\left(1+\frac{1}{n}\right) + 2\ln b_{n} + (n^{2}-n)\ln y_{n} - (n^{2}+n)\ln y_{n-1}.$$

For $n \ge 2$, put

$$U_n = n(n^2 - 1) \ln\left(1 + \frac{1}{n}\right) + 2\ln|a_n| + (n^2 - n) \ln x_n - (n^2 + n) \ln x_{n-1},$$

$$V_n = n(n^2 - 1) \ln\left(1 + \frac{1}{n}\right) + 2\ln b_n + (n^2 - n) \ln y_n - (n^2 + n) \ln y_{n-1}.$$

Online Journal of Analytic Combinatorics, Issue 14 (2019), #09

It follows from (2.1)–(2.2) that

$$\begin{aligned} U_n &> n(n^2 - 1) \ln\left(1 + \frac{1}{n}\right) + 2\ln|a_n| + (n^2 - n) \ln\left(n - \frac{1}{2}\right) - (n^2 + n) \ln(n - 1) \\ &= n(n^2 - 1) \ln\left(1 + \frac{1}{n}\right) + 2\ln|a_n| - 2n\ln n + (n^2 - n) \ln\left(1 - \frac{1}{2n}\right) \\ &- (n^2 + n) \ln\left(1 - \frac{1}{n}\right) \\ &= n(n^2 - 1) \ln\left(1 + \frac{1}{n}\right) + 2\ln|a_n| - 2n\ln n - (n^2 - n) \ln\left(1 + \frac{1}{2n - 1}\right) \\ &+ (n^2 + n) \ln\left(1 + \frac{1}{n - 1}\right) \end{aligned}$$

and

$$V_n > n(n^2 - 1) \ln\left(1 + \frac{1}{n}\right) + 2\ln b_n + (n^2 - n) \ln\left(n + \frac{1}{2}\right) - (n^2 + n) \ln n$$

= $n(n^2 - 1) \ln\left(1 + \frac{1}{n}\right) + 2\ln b_n - 2n\ln n + (n^2 - n) \ln\left(1 + \frac{1}{2n}\right).$

Owing to (2.7), $\ln |a_n| > 0$ ($n \ge 5$), and $\ln b_n > 0$ ($n \ge 3$), we derive

$$U_n > n(n-1) + 2\ln|a_n| - 2n\ln n - \frac{n^2 - n}{2n - 1} + n + 1$$

= $n^2 + 1 + 2\ln|a_n| - 2n\ln n - \frac{n}{2} + \frac{n}{2(2n-1)}$
> $n^2 + 1 - 2n\ln n - \frac{n}{2}$ $(n \ge 5)$

and

$$V_n > n(n-1) - 2n \ln n + \frac{n^2 - n}{2n+1} \quad (n \ge 3)$$

= $\frac{2n[n^2 - 1 - (2n+1)\ln n]}{2n+1}$.

For x > 0, define two functions

$$\begin{split} \varphi(x) &= x^2 + 1 - 2x \ln x - \frac{x}{2}, \\ \psi(x) &= x^2 - 1 - (2x + 1) \ln x. \end{split}$$

It is evident that

$$U_n > \varphi(n)$$
 $(n \ge 5)$ and $V_n > \frac{2n\psi(n)}{2n+1}$ $(n \ge 3).$

We have

$$\varphi'(x) = 2x - \frac{5}{2} - 2\ln x, \quad \varphi''(x) = 2\left(1 - \frac{1}{x}\right),$$

$$\psi'(x) = 2x - 2 - 2\ln x - \frac{1}{x}, \quad \psi''(x) = 2\left(1 - \frac{1}{x}\right) + \frac{1}{x^2}$$

Since $\varphi''(x) > 0$ (x > 1) and $\psi''(x) > 0$ (x > 0), $\varphi'(x)$ is monotonic increasing on $[1, +\infty)$ and so is $\psi'(x)$ on $(0, +\infty)$. We observe that $\varphi'(2) > 0$ and $\psi'(2) > 0$. Then $\varphi(x)$ and $\psi(x)$ are monotonic increasing on $[2, +\infty)$. We find that $\varphi(2) > 0$ and $\psi(3) > 0$. It is obvious that $\varphi(x) > 0$ ($x \ge 2$) and $\psi(x) > 0$ ($x \ge 3$). This implies that $U_n > 0$ ($n \ge 5$) and $V_n > 0$ ($n \ge 3$). On the other hand, we observe that $U_j > 0$ (j = 3, 4), and $V_2 > 0$. Since $U_n > 0$ ($n \ge 3$) and $V_n > 0$ ($n \ge 2$), we get

$$(n+1)|a_{n-1}|^{\frac{1}{n-1}}|a_{n+1}|^{\frac{1}{n+1}} - n|a_n|^{\frac{2}{n}} \ge 0, \quad n \ge 3,$$

$$(n+1)b_{n-1}^{\frac{1}{n-1}}b_{n+1}^{\frac{1}{n+1}} - nb_n^{\frac{2}{n}} \ge 0, \quad n \ge 2.$$

Hence the sequences $\left\{\frac{1}{n!\sqrt[n]{|a_n|}}\right\}_{n\geq 2}$ and $\left\{\frac{1}{n!\sqrt[n]{b_n}}\right\}_{n\geq 1}$ are log-concave.

3. Acknowledgments

The authors thank the anonymous referee for his/her helpful comments and suggestions.

References

- [1] G. Boole, An Investigation of the Law of Thought, Dover, New York, 1984.
- [2] F. Brenti, Log-concave and unimodal sequences in algebra, combinatorics, and geometry: An update, in: Contemporary and Mathematics, 178 (1994), 71–89.
- [3] L. Comtet, Advanced Combinatorics, Reidel, Dordrecht, 1974.
- [4] T. Došlić, *Log-balanced combinatorial sequences*, International Journal of Mathematics and Mathematical Sciences, 4 (2005), 507–522.
- [5] P. Herici, Applied and Computational Complex Analysis, I, Wiley, New York, 1988.
- [6] L. Jagerman, Difference Equations with Applications to Queues, Marcel Dekker, New York, 2000.
- [7] D. Merlini, R. Sprugnoli, and M.C. Verri, *The Cauchy numbers*, Discrete Mathematics, **306** (2006), 1906–1920.
- [8] L.M. Milne-Thomson, The Calculus of Finite Differences, Macmillan and Company, London, 1951.
- [9] R.P. Stanley, Log-concave and unimodal sequences in algebra, combinatorics, and geometry, Ann. New York Acad. Sci. **576** (1989), 500–534.
- [10] C. Wang and L.N. Zheng, Some properties for generalized Cauchy numbers of two kinds, The Mathematics Student, 83 (2014), 177–184.
- [11] T.T. Zhang and F.Z. Zhao, *The log-convexity of some sequences related to Cauchy numbers of two kinds,* accepted by Journal of Combinatorial Mathematics and Combinatorial Computing.

Online Journal of Analytic Combinatorics, Issue 14 (2019), #09

- [12] F.Z. Zhao, Sums of products of Cauchy numbers, Discrete Mathematics, 309 (2009), 3830–3842.
- [13] F.Z. Zhao, Some results for generalized Cauchy numbers, Utilitas Mathematica, 82 (2010), 269–284.
- [14] F.Z. Zhao, *Some properties of a new class of generalized Cauchy numbers*, Online Journal of Analytic Combinatorics, 2011, No.6.
- [15] F.Z. Zhao, *The log-convexity of Cauchy numbers*, The Journal of Indian Mathematical Society (New Series), **80** (2013), 395–403.